D1vISION WITH A REMAINDER II (H - SET 5)

DIVISION WITH 1 TO 10 oo
61) 45887 =— 5 = %) 41519 =5 =
2 11665 =— & = 25995 + 3 =
63 2105 =— 2 = ) 37346 = 6 =
61) TREY = 8 = 1) 24590 + 3 =
65) 14432 — 2 = 80) 21533 =7 =
66) 16320 = & = s 18730 =4 =
677 33139 — 6 = 82) 75040 -9 =
68) 9465 = 1 = 3 7154 + 10 =
69 30381 = 7 = 8) 28460 + 3 =
1) 22657 =4 = ) 1911 +4 =
65500 =9 = s6) 15778 =3 =
) 48333 -6 = 09603 + 1 =
) 45846 = T = 83) 14354 + 2 =
) 21244 = 3 = 89) 67043 = 10 =
) TI8AT = 9 = 00) 17498 -9 =

Mathematics: Division - Level 8 - Horizontal - Set 5
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